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DIPLOMA IN WATERSHED MANAGEMENT 
(DWM) 

Term-End Examination 	0 0 1 1 8 
June, 2018 

BNRI-103 : SOIL AND WATER CONSERVATION 

Time : 2 hours 	 Maximum Marks : 50 

Note : (i) 

(ii) 

(iii) 

(iv) 

Attempt any five questions. 

All questions carry equal marks. 

Use of calculator is permitted. 

Assume any realistic value for designing if required. 

1. (a) Explain the process of soil erosion and 
factors affecting soil erosion. 	 3+2=5 

(b) What is water erosion ? 	What are the 
different forms of water erosion ? 	2+3=5 

2. (a) Define gully erosion. What are the different 
stages in gully development ? 	 2+3=5 

(b) Calculate erosivity of rainfall when a storm 	5 
having 5 cm per hour average rainfall 
intensity and 8 cm rainfall depth. 	The 
maximum 30 minutes rainfall intensity is 
4 cm per hour. 

3. (a) What are the different sources of soil loss. 
Explain the Universal Soil Loss Equation 
(USLE) for predicting annual soil loss. 	2+3=5 
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(b) Calculate annual soil loss from the field 	5 
subject to soil erosion problem with the 
following observation : 

Rainfall erosivity factor = 800 ton/ha 

Soil erodability factor = 0.2 

Crop management factor = 0.25 

Conservation practice factor = 0.6 

and topography factor = 0.8. 

Also find out how much percentage soil loss 
is reduced when the cultivations is done on 
the contours. Assuming the value of 
conservation practice factor (P) for 
contouring is 0.6. 

4. 	(a) Define wind erosion. What are the causes 
of wind erosion ? 	 2+3=5 

(b) Explain the process of sand dune formation 	5 
with neat sketch diagram. 

Differentiate between Engineering and 	5 
agronomical measures of soil erosion. 

Define bench terracing for hill cultivation. 
Describe different types of bench 
terracing. 2+3=5 

Define Contour bunding. Explain their 
function with diagram. 	 2+3=5 
Write the consideration for selection of 	5 
water harvesting structures. 

Differentiate between temporary and 
permanent structures. 	 2+3=5 
Describe retaining walls and its functions.2+3=5 
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What is artificial ground-water recharge ? 
Describe the ideal conditions for artificial 
ground water recharg". 2+3=5 

What is rain water harvesting ? Enlist 
different types of rain water harvesting 
techniques. 2+3=5 
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